
２変数関数の極値を求める問題 

𝑓(𝑥, 𝑦) = sin 𝑥 + sin 𝑦 + sin(𝑥 + 𝑦)   (0 < 𝑥, 𝑦 < 𝜋)の極値を求めよ。 

(解)まず停留点を求める。 

𝑓𝑥(𝑥, 𝑦) = cos 𝑥 + cos(𝑥 + 𝑦)=0・・・① 

𝑓𝑦(𝑥, 𝑦) = cos 𝑦 + cos(𝑥 + 𝑦)=0より 

cos 𝑥 = cos 𝑦 

𝑥 = 𝑦 

これを①式に代入して 

cos 𝑥 + cos(2𝑥)=0 

2cos2 𝑥 − 1 + cos 𝑥 = 0  

∴ cos 𝑥 =
1
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, −1 

(𝑥, 𝑦) = (
𝜋

3
,

𝜋

3
)は停留点。 

𝑓𝑥𝑥(𝑥, 𝑦) = − sin 𝑥 − sin(𝑥 + 𝑦)    𝑓𝑥𝑥 (
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) = −
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= −√3 

𝑓𝑥𝑦(𝑥, 𝑦) = − sin(𝑥 + 𝑦)              𝑓𝑥𝑦 (
𝜋
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𝜋

3
) = −
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𝑓𝑦𝑦(𝑥, 𝑦) = − sin 𝑦 − sin(𝑥 + 𝑦)     𝑓𝑦𝑦 (
𝜋
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𝜋
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) = −√3 

ヘッシアンは 
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𝑓𝑥𝑥 (
𝜋
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,
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3
) < 0より 

𝑓(𝑥, 𝑦)は(
𝜋

3
,

𝜋

3
)で極大値
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2
をとる。 

 


